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The course schedule has some things in the "Topics" column that need to be
changed. Holdovers from 2009.
Due dates on homework announced in class.

Diagnostic Tests: Keep pecking on that: Take the test, and then use the Diagnostic
Tests link:

Course Website/Tests/Diagnostic Tests
That's where a concordance between the questions and review materials is found.
Questions on 1.1, 1.27?

1.2 1l is about using a calculator/spreadsheet to do regressions. Not a big deal in
Calculus.

Today, 1.2, 1.3, 1.4 briefly, if time.
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